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(2) 2008/(Set : A)
° FyI F97 F FGY 37 G g4 T° %Tc??/%mvwgﬂfaae??w%ﬂ
FYT 59 T F g A arar :/37‘ R s
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 7357 -

() T8 g57-97 T G 7 Ao &
TT-37 : STTTTE] FEd T FA Gl
TI-F : B @7 TF [T [aeal & [y
TG : FLNPT TG

(i) SF-97 a8 Ther o s @ Gr-g T 9IT-q § & FE @
T &T F1

(iii) TH F9T ET &7 81 JAF FIT & IF FGH THAT T 7T 8

(iv) 797 @& 11, 17 7 18 7 of<ili® ge Y7 &/

General Instructions :

(i) This question paper is divided into three parts :
Part-A : Not for Profit and Partnership Accounts.
Part-B : Company Accounts and Analysis of Financial Statements.
Part-C : Computerised Accounting.

(ii) Part-A is compulsory. Candidates have to attempt any one part
from Part-B and Part-C of their choice.

(iii) All questions are to be attempted. Marks of each question are
indicated against it.

(iv) Internal choice is available in Question Nos. 11, 17 and 18.
M - A
PART - A
(eraTerRrt He Td aEer @)

(Not for Profit and Partnership Accounts)

2008/(Set : A)



(3) 2008/(Set : A)
1. I9-29 @9 T oY F1 993 © ° 1

What do you mean by Income and Expenditure Account ?

2. ARG HEEN AAFEE, 1932 % AR e S IR qa5u |
Define partnership according to Indian Partnership Act, 1932.

3. TR AV e o H Q@i &1 5 : 3 & o A fIwia & gY dBRR &l
I A AR Y @ AT WEER F U A ®H 4 yawr Ram T A ooe RE &
S R R e A L A oo RE A D B R T U
STH-8M ST &l T 1
A and B are partner in a firm sharing profits and losses in the ratio of 5

: 3. They admit C and D as a new partners. A sacrifice % of his share in

favour of C and B sacrifice % of his share in favour of D. Calculate

their new profit sharing ratio.

4. TH, WH, T A SMGT 3 : 2 : 1 : 4 & AU § @l &l oo #3d g &
B4 ¥ AEER 31 TH BH & daigd oldl 51 S $ STAR W & o WM
T 3 : 2 % A F N B, FO1 R A & A -2 ST B IO
C
Ram, Rahim, Krishan and Arjun are partners in a firm sharing profits
and losses in the ratio of 3 :2 : 1 : 4. Ram decide to retire from the
firm and his share, received by Rahim and Krishan in the ratio of 3 : 2
according agreement. Calculate the New Profit sharing ratio of Rahim,

Krishan and Arjun.

5. @ & 7 o 1

Write the meaning of Goodwill.

2008/(Set : A) P.T.O.



(4) 2008/(Set : A)
6. TERER & GHOT & MY F1 9 © ? 1

What is meant by dissolution of partnership ?

7. 319, 2016 & GG 99 & [0 ST FA9 3 Iwal 39 Y U< fohaT :

N

2014-15 5,000

2015-16 1,08,000

2016-17 3,000

1,16,000

e gEe

Bl Ta G 240

a1 B * 500

1 3B, 2015 F 3Te Tl ' 9,000

31 T/, 2016 F ¥ 9 FF T § T= B TR P A 4

Subscriptions received during the year ended 31st March, 2016 by Arts
Club were as under :

N

2014-15 5,000
2015-16 1,08,000
2016-17 3,000
1,16,000
Additional Information :
Total number of members 240
Annual subscription fee * 500

Subscription outstanding on April 1, 2015 ° 9,000

Show the amount of subscription in Income and Expenditure Account
for the year ended 31st March, 2016.

2008/(Set : A)



(5) 2008/(Set : A)

8. ‘T, @ IR W W AH-BI STIUR FHAM: 4 : 2 : 1 o1, Al MUEH TS B

AR A H e Bl ot @ 18,000 § FH TE B 2015 a9 B BH H
@™ 1,05,000 91 HEER § AE-2 & fOHeE S 4

A, B and C were in partnership sharing profits in the ratioof 4 : 2 : 1. It
being provided that in no year C's share be less than ~ 18,000. The
profit for the year 2015 amounted to = 1,05,000. You are required to
show the appropriation of profit between the partners.

9. G R ‘@ @l B 3 : 2 F W H gL BH A ABRER 2| ITH Goi
80,000 @R * 50,000 HAL: B IeM ‘W' H T WEHER IEN S A A
1 N < . X
IO < T F R 60,000 o & & F 0 31 IGFI GG F SN W
T &l O Y FAT AT AE-8I AU S B 4
P and Q are partners in a firm sharing profits and losses in the ratio of 3 :
2. Their capital are * 80,000 and " 50,000 respectively. They admit

Z as a new partner. Z brings in * 60,000 as his capital for %th share in

the profits. Find out the amount of goodwill on the basis of the above
information and also calculate their new profit sharing ratio.

10. ‘T R ‘W 4 : 3 & IUC F AW died §C T ®H ¥ EER 91 31 AN,
2016 H BH F TGN & TN T FEER @ orasas ufaftedt S 4
(i = 20,000% IR, ‘TT 7 ° 18,000 H faw
(i) ° 15,000 % ATERI B 5% Fekil T A B
(iii) F9O & ° 1,000 ‘@9’ 7 &3
(iv) age @ q & 7,000 B
L and M were partners in a firm sharing profits in the ratio of 4 : 3. The

firm was dissolved on 31st March, 2016. Pass necessary Journal

Entries for the following transactions :

(i) Debtors = 20,000 were taken over by L for * 18,000.

2008/(Set : A) P.T.O.



11.

(ii) Creditors = 15,000 were paid at a discount of 5%.

(iiij Expenses of dissolution = 1,000 were paid by M.

(6)

(iv) Loss on realization was = 7,000.

%’ X ‘A’ B 31 A, 2016 F RITST TH TBR ® :

2008/(Set

T A 5,000 | WS 5,000
fafag @9e® | 29,000 | % 20,000
eI 1,000 | fafge e 30,000
wh 20,000
Tl @i &) 7l | 50,000
‘%’ 90,000 SiCE| 75,000
‘T’ 75,000 | 1,65,000
2,00,000 2,00,000

SR fOfy & ‘o @ 9 9t W wH | yaer g ®

() ‘@ % F S A R 50,000 Toff @
¥ R

(i) AMTA H T 60,000 EIH AR 9o & I q 10% i Ir& &3l

- A)

* 30,000 @&Ifd $ &Y

(iii) b H T ° 2,000 § HH fRaT T TN TR W 5% %l & q ey w0
% o gEee ¥R SR

AR JTHF @, ERRl & Jofl @ SR gifed ®H & faeel qar &

2l

8

The following is the Balance Sheet of K and L as on 31st March, 2016 :

2008/(Set : A)



(7)

Liabilities Amount" Assets Amount’
Bills payable 5,000 | Cash in hand 5,000
Sundry Cash at Bank 20,000
creditors 29,000
Outstanding Sundry

exp. 1,000 debtors 30,000
Stock 20,000

Capital : Plant and
K 90,000 Machinery 50,000
L 75,000 1,65,000 |Building 75,000
2,00,000 2,00,000

2008/(Set : A)

On this date M's is admitted as a new partner on the following

conditions :

(i) 'M'brings in * 50,000 as capital and
his %th share in profits.

* 30,000 as goodwill for

(i) Machinery revalued at * 60,000 and value of building is increased

by 10%.

(iij) Value of stock decreased by ° 2,000 and provision for doubtful
debts is to be created on debtors @ 5%.

You are required to prepare Revaluation Account, Partners' Capital
Account and a Balance Sheet of the new firm.

HAYqT
OR

() &7 =R W& & W fGRw N g% qEER & SAUEERdl B aF TR H

TOMT & & [T 3G @ § hiee H A 21 4

(3) foe AERER & STIH TET B & G9F ST b GRS B & H g

i

2008/(Set : A)

4

P.T.O.



(8) 2008/(Set : A)

(a) Name four items which are credited to the account of a deceased

partner while calculating the amount due to his legal
representatives.

(b) Discuss the method of treatment of goodwill at the time of
retirement of a partner.

M -9
PART - B
(T @ e R el @ fasayer)
(Company Accounts and Analysis of Financial Statements)

12. @A & 9 8 7 1

What is owners' equity ?
13. SgRT s @ & ? 1

What is trend analysis ?
14. 9 FRfaRad gaeT & T B 4

I AU = 2.5

FR E = 90,000

S i

(31) =g weafeen

() = A

Following information is given to you :
Current ratio = 2.5

Working capital = * 90,000

Find out :

2008/(Set : A)



(9) 2008/(Set : A)

(a) Current assets

(b) Current liabilities

15. frfeied e | Fase Beams § g5 Ahs Ja1e & T S
31-3-2015° | 31-3-2016°

HI (w.d.v.) 6,00,000 7,50,000
R gEe
@i ° 1,00,000 @ Fa+, B X THET 2@ 30,000 ¥, © 60,000 F §9 &=
HEIl
(i) 31-3-2016 F T a9 § T@ TMAT T * 50,000
4
Calculate net cash flows from investing activities from the following
information :
31-3-2015° | 31-3-2016 "
Building (w.d.v.) 6,00,000 7,50,000

Additional Information :

(i) Building costing * 1,00,000 on which * 30,000 had
accumulated as depreciation was sold for * 60,000.

(ii)) Depreciation charged on building for the year ended 31-3-2016 °
50,000.

16. J%hs YaE a0l TR 31 $ SR #r & ? 4

What are the uses of preparing a cash flow statement ?

17. U9 f[afRe 3 ° 10 Y&% & 20,000 9t H1 ° 1 Ui ofer srfeemsy w i e
T 39 UBR 37 ®

2008/(Set : A) P.T.O.



(10) 2008/(Set : A)
AMAET W 3

e W 5 (Stferrs Hfea)
go AR SIfaH e W 3

el ofelf W IEM W g IR FE 7 @+ 3 R, 200 M W
e X AN TR & AR I & | 37 AL H T B A WA 12
g% & QO GO S A GARH fR TEm wE S g A Qe gfaftet
ey 8
Raj Ltd. offers 20,000 share of * 10 each at a premium of * 1 per share
to the public. The amount is payable as follows :

On Application 3
On Allotment S (including premium)

On First and Final call 3

All shares are subscribed. Company received all money except
allotment and 1st & final call money on 200 shares. These shares were
forfeited and re-issued as fully paid at * 12 each.

Pass necessary Journal Entries in the books of the company.

ST

OR
dftra feoelt ffeg
(37) ofsit @1 et W Rl 4
(@) ol 1 BT 4

Write short notes :
(a) Issue of shares at discount

(b) Forfeiture of shares

2008/(Set : A)



(11) 2008/(Set : A)
18. T% HFH! &l @l T § 31 7, 2016@%%%%&@6@@

N\

10% ROT9S 8,00,000
FOTYS M DY Tl 8,00,000
OIS SNEM iy fafeEnT 8,00,000

(* 10,00,000 gfergfodt § @i g)
S fof W RFEN Gifed 9 & 90% W = R¥ W kI B FATER
qie T &I T

FOGS NG BT QAT T FOS M HY G @ 9 B
8

The following are the balances in the books of a company as on 31st

March, 2016 :
10% Debentures 8,00,000
Debenture Redemption Fund 8,00,000

Debenture Redemption Fund Investment
8,00,000

(Face value of Securities * 10,00,000)

On the above date investment were sold 90% of the face value and
debenture were redeemed accordingly.

Prepare Debenture Redemption Fund Account and Debenture
Redemption Fund Investment Account in the book of the Company.

HAYqT
OR

T b A T @ aue Bl 8

Explain the various type of Debentures.

2008/(Set : A) P.T.O.



(12) 2008/(Set : A)
AT -9
PART - C
(Fgelza agiw)

(Computerised Accounting)

12. Tad SEEROT JOel & oMY Tl |9si © ¢ 1
What do you mean by Transaction Processing System ?

13. = AfTee™ #m 7 ? 1
What is Data Validation ?

14, FYH G AR AP i # X AU 4

Difference between manual and computerized accounting system.

15. S[EEH at the back end ™ Y& & 8 8 ? 4
What are the types of database at the back end ?

16. FYUFA AGHT J AT @1 B8 AR BT ST & 7 4

How prepare the profit and loss account in computerized accounting ?

17. (i) wizard (ii) by design view & ®M 9 @ UFHAT & aU9 1 8

Describe the procedure for creating form (i) wizard (ii) by design
view.
YT
OR
i RAE 71 8 ? @ RO a9 & 9k & avie &1 8
What is an Accounting Report ? Explain the procedure of creating
reports.
18. TESliT & FGUART H Eih § THEU 8

Describe the applications of spreadsheet in accounting.

2008/(Set : A)



(13) 2008/(Set : A)
YT
OR

FYIA AR Aforh FA H R W H@W 8

Differentiate between computational and logical functions.

2008/(Set : A) P.T.O.
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(2) 2008/(Set : B)
° FYI F97 F TG 37 G g4 T° %Tc??/%mvwgﬂfaae??w%ﬂ
FYT 59 T F g A arar :/37‘ R s
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 7357 -

() T8 g57-97 T G 7 Ao &
TT-37 : STTTTE] FEd T FA Gl
TI-F : B @7 TF [T [aeal & [y
TG : FLNPT TG

(i) SF-97 a8 Ther o s @ Gr-g T 9IT-q § & FE @
T &T F1

(iii) TH F9T ET &7 81 JAF FIT & IF FGH THAT T 7T 8

(iv) 797 @& 11, 17 7 18 7 of<ili® ge Y7 &/

General Instructions :

(i) This question paper is divided into three parts :
Part-A : Not for Profit and Partnership Accounts.
Part-B : Company Accounts and Analysis of Financial Statements.
Part-C : Computerised Accounting.

(ii) Part-A is compulsory. Candidates have to attempt any one part
from Part-B and Part-C of their choice.

(iii) All questions are to be attempted. Marks of each question are
indicated against it.

(iv) Internal choice is available in Question Nos. 11, 17 and 18.
M - A
PART - A
(eraTerRrt e Td e @)

(Not for Profit and Partnership Accounts)

2008/(Set : B)



(3) 2008/(Set : B)
1. E-2F Gl H qaR) 6 oar & ? 1

Why is Income and Expenditure Account prepared ?

2. ¥ g8 T&d & [ gEErl oeqq fafag § & ? 1

Is it necessary to have a partnership agreement in writing ?
3. L, AANAS5:3:2% TgUa § AW dicd g¢ HERR &I S H R § yad
fam ST 81 AT AAH-SI ST 3 : 2 : 2 : 33, @M UM H M &1

A, B and C are partners sharing profits in the ratio of 5 : 3 : 2. They
admit D into partnership. The New Profit Sharing ratio of partners is 3 :

2 : 2 : 3. Calculate the sacrificing ratio.
4. TH, WH AT FO 3 : 2 : 1% MU H AW dled 5T AERR &1 T AEER G
q STTHI TET FY A ol T ST S B 1

Ram, Rahim and Krishan are partners in a firm sharing profit ratio 3 :

2 : 1. Ram decide to retire from the firm. Calculate gaining ratio.

5. I & URRAfE & 9o F PR EEd § aEEr @ e O § ok 8
ST 2 1

List any two circumstances under which the fixed capital of partners

may change.

6. I T H; B 7 1

What is Realisation Account ?

7. 3199, 2016 H THG 89 a@ 9¥ ¥ TH FO9 G Il 39 BN U fRa

2008/(Set : B) P.T.O.



(4) 2008/(Set : B)

N

2014-15 5,000
2015-16 1,08,000
2016-17 3,000
1,16,000
SRR gel
ol GEE HEA 240
a1 B ' 500
1 38, 2015 & 3Ted ==l ' 9,000

31 9, 2015 9 31 W, 2016 & Refd faewer # a= @ Tataq i s
Subscriptions received during the year ended 31st March, 2016 by a

Club were as under : 4
2014-15 5,000
2015-16 1,08,000
2016-17 3,000
1,16,000

Additional Information :

Total number of members 240
Annual subscription fee © 500

Subscription outstanding on April 1, 2015 * 9,000

Show the amount of subscription in the Balance Sheet on 31st March,
2015 and 31st March, 2016.

8. ‘TR 3R ‘A%’ Th BH § WEER & HERRl 09 & AR :
X and Y are partners in a firm. According to their partnership deed :

(i) ° 40,500 TH P TH B ICEK ST 40,500 F R B 3 : 2 B
U 7 S

2008/(Set : B)



(5) 2008/(Set : B)

() ‘TR’ " 7,500 qMH Ia9 M H ARBR B M A’ FHgW 9 AW gem

% 98 & W H 8% FHIIH I B AYBR &1 qY B AW, Iq9 d FHME
geM 8 @@ 56,757

A8 THESN QT ENIEN 4

(i) Profit upto ° 40,500 are divided equally and excess of = 40,500 are
divided in the ratio of 3 : 2.

(ii)) X is entitled to get an annual salary of © 7,500 and Y is
entitled to get 4% commission on net profit after charging
commission and A's salary. Profit for the year was °~ 56,757 before

charging commission and salary.

Prepare Profit and Loss Appropriation Account.

9. THY, ‘AR AR We' 1:2:3 % FGIW A @A dled gL WEER &1 TS FIH
TEUT FIAT & X IEH Yol @ H Hfse 99 1,80,000 (€9 T THAET @
T A H TAENH &3 & 98) o T SR 9% 7 36 full settlement ¥ °
2,25,000 % A A1 &7 SAd G did S B gEte G, 3 @
-2 STU 1 : 3 T 6T T & 4

X, Y and Z are partners sharing profits in the ratio of 1 : 2 : 3. Z retires
and his capital after making adjustment for reserves and profit on
revaluation stands at ~ 1,80,000. X and Y agreed to pay him = 2,25,000
in full settlement of his claim. Record necessary Journal Entry for the
treatment of goodwill if the new profit sharing ratio is decided at 1 : 3.

10. ‘T X Y’ 3 : 2 % U H A dled §Y WEER & BH & G & 9 G
Fwf™l © 5,00,000 3R FA &A@ © 1,00,000 B FERE & 4,20,000 TG
g0 THIO &9 5,000 21 TGl W (AR S 4

2008/(Set : B) P.T.O.



(6) 2008/(Set : B)
A and B are partners sharing profits in the ratio of 3 : 2, at the time of
dissolution of the firm, total assets are * 5,00,000 and total liabilities
are = 1,00,000, amount realized on sale of assets is = 4,20,000 and
realisation expenses are = 5,000. Prepare Realization Account.
11. ‘T iR @ 3 : 2 F AT § AW died gL WEER & 31 A, 2016 H W
Reffey feeT 389 99hR ©

G () Rt TR()
AR 18,000 | -ehg 22,000
-2y @ | 12,000 | 3R 35,000
qe@, s 3,500 | 31,900
el @ik 20,000
‘T 24,000 R 7,500
v 27,000 51.000
81,000 81,000

WA W F R wEed F e R 30,000 T F wW F A

I B & @ (Premium) 3 ° 12,000 Tg TEl @@N 39 T G W HAA
& :

(i) ®ib & qEFT 10% FHeril R G T o s 1,000 & &A R
T AR e w1 g g S T

(i) TF " 500 foeTel @ o gEwn § TE o W™ AR 1,500 B ORT TH B
Rty 3, R 9= § M ST 8

I ST, FEER H of @ qun T4 Ref fewer tar & 8

A and B are partners sharing profits ratio of 3 : 2. On 31st March, 2016
their Balance Sheet as follows :

2008/(Set : B)



(7) 2008/(Set : B)

Liabilities | Amount Assets Amount

N N

Creditors 18,000 | Cash 22,000

P&LA/c 12,000 | Debtors 35,000
Less :Prov. 3,500 31,500

Capital : Stock 20,000

A 24,000

B 27,000 51,000 | Fixtures 7,500
81,000 81,000

C is given éth share in profits of the firm. C brings in °= 30,000 as his

capital but C does not bring his share of goodwill in cash, * 12,000, in
the following terms :

(i) Stock to be discounted at 10% and provision for doubtful debts be
reduced by 1,000 and fixtures are valueless.

(i) A bill for * 500 for electric charges has been omitted to be recorded
and there is a claim against the firm for damages to °~ 1,500. This
will have to be paid in future.

Prepare Revaluation Account, Capital Account and New Balance Sheet

of the firm.

e

OR
U GEER & gg & RAfd d, g% 9EeR & W@ & W, af & aEl § 1oF
T AR & o wY 8

Explain with examples various methods of computing the share of
profits in case of death of a partner.

2008/(Set : B) P.T.O.



(8) 2008/(Set :

T -9
PART - B
(ot @ o o faeent & fasaon)
(Company Accounts and Analysis of Financial Statements)
12. i feRent @ fGeaeer 8 Fed o 1
What is Financial Statement Analysis ?
13. Rl et & #i5 @ 99 1

Give any two name of Financial Statements.

14. SUH Fr=fiad geem & 6§
G AT = 1.5
FrRI G = 40,000
S i
() =g e
(|) = A 4

Following information is given to you :
Current ratio = 1.5

Working capital = 40,000

Find out :

(a) Current assets and

(b) Current liabilities

15. O=ig ARl g1 U6e Ja18 & oM S ¢

2007 2008
T ST ol 2,00,000 3,00,000
8% FOTTH 1,00,000 50,000

2008/(Set : B)



(9) 2008/(Set : B)

g Shiftram 20,000 30,000
g% Fo1 (i) - 1,00,000
sRiRe geml
RO IX A & A {6 8,000 4
From the information given below, calculate cash flows from financing
activities :

2007 2008
Equity share capital 2,00,000 3,00,000
8% Debentures 1,00,000 50,000
Securities Premium 20,000 30,000
Bank Loan (long term) - 1,00,000

Additional Information :

Interest paid on debentures " 8,000.

16. Ahe TaE feRT @ HE gv Gl R 4

Give any four limitations of Cash Flow Statements.

17. ‘T fafies F 99ar & T 100 g/ 10,000 91 10 U9 iy Hiftrmm o et
Rl A 39 YR 3T ©

AT W 25
e W 50 (siftrm @feaq)
Teell oY oW A W) 35

gefl ofgT S9aT 3 @ fow 100 el WX oMEed g A9 T TR & BiehT
el gl IX 37 N U B M1 FFE A 39 i P eXr F} foRr qer 110 Ui
da & fea @ g Friftd & Ram

T BN JEIH A NI Ao gfaftedr i 8

2008/(Set : B) P.T.O.



(10) 2008/(Set : B)
A Ltd. offers 10,000 shares of ° 100 each at a premium of 10% per share
to the public. The amount is payable as follows :

On Application 25
On Allotment 50 (Including Premium)
On First and Final call 35

All shares are subscribed. Company received all money except
allotment & final call on 100 shares. These shares were forfeited and
reissued as fully paid at * 110 each. Pass necessary Journal Entries in
the books of the company.

Gl

OR
e e @ ford 8
(37) orffrim,
(@) it 1 SifEm W R

Write short notes on :
(a) Over-subscriptions,

(b) Issue of shares at premium.

18. 31 W, 2016 & TF HFI & J&iH 7 =1 99 & :

8% OIS 5,00,000
FOS MY B 5,00,000
OIS SN Y AT 5,00,000

2008/(Set : B)



(11) 2008/(Set : B)
(sif 7= * 6,00,000)

SUe fofr &l ffFERT & sifed ged & 80% W &= #X RO & SNe &Y A
T

RO SN B T KOG W Y AERT @ AR Hif
8

The following are the balances in the books of a company as on 31st

March, 2016 :
8% Debentures 5,00,000
Debenture redemption fund 5,00,000

Debenture redemption fund investment 5,00,000

(Face value * 6,00,000)
On the above date investments were sold @ 80% of face value.

Prepare Debenture Redemption Fund Account and Debentures

Redemption Fund Investment Account on the redemption of

debentures.
YT
OR
FOET & Me H RfET B Ay F®@ % ? 3@ avie B 8

What is Sinking Fund Method for Debenture Redemption ? Explain it.

2008/(Set : B) P.T.O.
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13.

14.

15.

16.

17.

(12) 2008/(Set : B)
AT -9
PART - C
(Fgelza agiw)

(Computerised Accounting)

FYUFA Eih § F1 A © 7 1

Give concepts of Computerized Accounting.

FYAFA B Tl 1 & 1
What do you mean by Computerized Accounting System (CAS) ?
FGG T, FG-9E AT d w4 B B 74

How 1is computerized accounting different from computer-base
accounting ?

ST Yo JUTel & Segdl & auid &l 4
Explain the objects of DBMS (Database Management System).
ARy 7 FfFpm W dfRrg Me frd 4

Write short notes on Validation & Verification.

festis-og fafy § MS Access H YBem® &3 & [aRF =00 & 9o & 8

Describe in steps the design view method to create a query in MS

Access.
YT
OR
RAE TR #W @ v fld & ao= &t 8

Explain the various method of creating reports.

2008/(Set : B)



(13) 2008/(Set : B)
18. 9 ¥ =X X ¢ 8

(31) @=g® T T@sfic,

(3) @« RetE 7 " Rl

Differentiate between :

(a) Workbook and Worksheet,

(b) Cell references and circular reference.

HYAT
OR

AG AT P AR X B AR aobeiic RIS & JuF & 8

Describe various worksheet operations to develop an Accounting

Application.

2008/(Set : B) P.T.O.
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(2) 2008/(Set : C)
° FYI F97 F TG 37 G g4 T° %Tc??/%mvwgﬂfaae??w%ﬂ
FYT 59 T F g A arar :/37‘ R s
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 7357 -

() T8 g57-97 T G 7 Ao &
TT-37 : STTTTE] FEd T FA Gl
TI-F : B @7 TF [T [aeal & [y
TG : FLNPT TG

(i) SF-97 a8 Ther o s @ Gr-g T 9IT-q § & FE @
T &T F1

(iii) TH F9T ET &7 81 JAF FIT & IF FGH THAT T 7T 8

(iv) 797 @& 11, 17 7 18 7 of<ili® ge Y7 &/

General Instructions :

(i) This question paper is divided into three parts :
Part-A : Not for Profit and Partnership Accounts.
Part-B : Company Accounts and Analysis of Financial Statements.
Part-C : Computerised Accounting.

(ii) Part-A is compulsory. Candidates have to attempt any one part
from Part-B and Part-C of their choice.

(iii) All questions are to be attempted. Marks of each question are
indicated against it.

(iv) Internal choice is available in Question Nos. 11, 17 and 18.
M - A
PART - A
(eraTerRrt e Td e @)

(Not for Profit and Partnership Accounts)

2008/(Set : C)



(3) 2008/(Set : C)
1. ‘9-49 G@Ar HH J9X ST 8 ° 1

By whom an 'Income and Expenditure Account' is prepared ?

2. R Tt @ aRecwsia G § g7 o= R 1
Give any one difference between Fixed Capital and Fluctuating Capital.
3. W iR W @EER B i AT & 1T S bl a9 a3 A-gie STgu e
N ST & TOFT & 1

P and J are partners. B is admitted for %th share. What will be new

ratio and also calculate sacrificing ratio ?

4. T, AR L2 2 F ogud F AW dfed gu APRKR 2| W B T

4 10 20
TEUT {7 Y A1 AT SR 1 B Tl A ST s e 0 1

3.9

A, B and C are partners sharing profits in the ratio of Z '0'20" What
will be new ratio on the retirement of C and also calculate gaining ratio
?

5. U6 T HEER & @EE’ G d $9 Jae7 &3 S @6 & 7 1

How can a new partner be admitted ?

6. e @ Uit & fofae o9 aEE w5 #1 = & S 2 1

Give two circumstances under which a partnership firm dissolved.

7. 9 & A A TS A9 ARG B Rf fqawer # 3@ g9 ?
M HIY 75,000

2008/(Set : C) P.T.O.



(4) 2008/(Set : C)

M & 10,000
Y P & [0 IW 25,000
M Y AT | = 5,000
M @Y fafEe 60,000

4

How will you deal with the following items in Balance Sheet of Raj Club,
Chandigarh ?

N

Prize Fund 75,000
Prize Given 10,000
Donation for Prize Fund 25,000
Interest on Prize Fund Investment 5,000
Prize Fund Investment 60,000

8. W IR ‘R @w-a & 3:2F U 7 dfed g Th B A GEER &1 I
Goft WSt 2,50,000 T 1,25,000 Bl 3% HEER S Yol T 10% =TS
T B AR B W aw F § I W S geM & AN dfhd B o
FHIH FOH & qd B AH H 10% HHH T HB AR 31 T AW H § o
W S T G FHGT GO & T & ATl B 8% FHINT T B AER B Ay
% ¥ Lol W &S @ § @ ' 1,87,500 3

-3 RN Tl ST 4

P and Q are partners in a firm sharing profits & losses in the ratio of 3 :
2 with a capital of © 2,50,000 and © 1,25,000 respectively. Each
partner is entitled to 10% interest on capital. P is entitled a commission
of 10% on net profit remaining after deducting interest on capital but
before charging any commission. Q is entitled a commission of 8% on
net profit remaining after interest on capital and after charging all
commission. The profits for the year prior to calculation of interest on

capital was * 1,87,500. Prepare Profit and Loss Appropriation Account.

2008/(Set : C)
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9. ‘T, W AW 5:3:2 % UM § W Jled gY WERK &1 ‘T STEEHeT Tav

FA & AR SEH RE A AR AW A W R T F @ T FH W

W % I H g 20,000 R WM AT -l S S i qe
feT = @ @ e @ affte SR 4

A, B and C are partners in a firm sharing profits in the ratioof 5: 3 : 2. A
retires and his share is taken up by B and C equally. At the time of A's
retirement the goodwill of the firm valued at * 20,000. Calculate
New Sharing Profits ratio and pass Journal Entry for recording the
goodwill without opening goodwill A/c.

10. ‘T &R ‘T 2 : 3 & U ¥ ded gL ABRR o FH & GO & a9 o
@ 1,50,000 R FA @™ 7,50,0001 FERE H OFEH W
6,30,000 9 U TG &F ° 7,500 Bl IEH @ AR Hi@ 4

M and R partners sharing profits in the ratio of 2 : 3, at the time of
dissolution total liabilities are = 1,50,000 and total, assets are °
7,50,000, amount realized on sale of assets is = 6,30,000 and
realization expenses are = 7,500. Prepare Realization Account.

11. I AR A6 1 : 2 & SFJ9W o 9 aled §T 9K &1 31 99, 2016 & S
Retfer frerer 39 yR ®

S T () TRt R ()

SEEIN 36,000 |3 44,000

qH 12,000 |3F_R 70,000

-3 & | 12,000 g, AN 7,000 | 63,000

gt i 40,000

9 48,000

qeq 54,000 | 1,02,000 | e 15,000
1,62,000 1,62,000

2008/(Set : C) P.T.O.



(6) 2008/(Set : C)
T Hl ém%mq%raTﬁqTW| Fr ot W =1 60,000 Tt & w9 F
R * 24,000 &G & &9 § A1

(i) ®iE F BT 10% Her W &, 39a 9 dieg IFeR W AR
2,000 ¥ ger T o1 e @1 g g B

(i) U fooiar @ & 1,000 REw & ® T SR TF q@1 3,000 H FH W &
foreepl wigsr § 3 B

g T, WEERt & Oof e qor T4 Rafy fEer taR S
8

Ram and Mohan are partners profits ratio 1 : 2. On 31st March, 2016,
their Balance Sheet as follows :

Liabilities Amount’ Assets Amount

Creditors 36,000|Cash 44,000

General Reserve 12,000|Debtors 70,000

P& LA/ 12,000 Less : Prov. 7,000 63,000

Capital : Stock 40,000

Ram 48,000

Mohan 54,000 1,02,000 Fixtures 15,000
1,62,000 1,62,000

Krishan is given %th share in profits of the firm. Krishan brings in °

60,000 as his capital and ° 24,000 for goodwill in the following terms

(i) Stock to be discounted at 10% and provision for doubtful debts be
reduced by 2,000 and fixtures are valueless.

(i) A bill for ° 1,000 for electric charges has been omitted to be
recorded and there is a claim against the firm for damages to
* 3,000. This will have to be paid in future.

2008/(Set : C)
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Prepare Revaluation Account, Partners Capital Account and New
Balance Sheet of the firm.

HYAT
OR

AT W AU T T U & 1 95 & ¢ 3T M A R W i
8

What do you understand by sacrificing ratio and gaining ratio ? What is
the difference between two ?

qMwr -9
PART - B
(ot @ o o faeent & fasaon)
(Company Accounts and Analysis of Financial Statements)

12. 0 Rt & o @ a9 € 7 1

What do you mean by Financial Statement ?
13. SaiT faseer &1 5 7 1

What is trend analysis ?
14. = gEame § € Ed g e H 4

UREE &b 9,000

v &b 11,000

B 23,000

qoigdl 7,000

femht 40,000

IR Golls 2,000

2008/(Set : C) P.T.O.
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Calculate stock turnover ratio from the following information :

N\

Opening Stock 9,000
Closing Stock 11,000
Purchases 23,000
Wages 7,000
Sales 40,000
Carriage inward 2,000

15. = gaEiell | ‘TFEn TafiEr | Jws g9 wa
1-4-2015  31-3-2016

BRI 1,00,000 1,20,000
ga 81g 30,000 50,000

99 & XM TF 70 BEH §& 50,000 o1 AR B W HRER 89 30,000 B, F
' 26,000 ¥ §¥ I M 4

Calculate net cash flows from investing activities from the following

informations :
1-4-2015 31-3-2016
Machinery 1,00,000 1,20,000
Accumulated Depreciation 30,000 50,000
During the year, a machine costing ~ 50,000 & Accumulated

depreciation on it was *~ 30,000, was sold for * 26,000.

16. %S YaE [qaXr & 7w & U & 4

Mention the merits of cash flow statement.

2008/(Set : C)
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17. W fafes 3 ° 10 a@ 30,000 SIS & 10% Hiftem w frifyg feo iy g9

JHR 3T B 8
e W 4

e W 4 (sifem afea)

QY T Tealt g SAqH I W

el Sigl W AR O g HUHI A Gl &9 TR, 300 G QW AW
AR AT R & Hfaled o @ngT Sfsl @ oSt & o T eiR 8 wia ofwr
yofed QARG @ fEm FE  ger § Ao Sfaftedr w3

Ram Ltd. offers 30,000 share of * 10 each at a premium of 10% to the
public. The amount is payable as follows :

On Application 4
On Allotment 4 (including premium)
and Balance on first & final call.
All shares are subscribed. Company received all money except
allotment and first & final call money on 300 shares. These shares were

forfeited and re-issued as fully paid up at ° 8 each. Pass necessary
Journal Entries in the books of the company.

T

OR
wftra fewfrr ford 8
(37) st @1 ofmEeH,
(@) oM g

2008/(Set : C) P.T.O.
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Write short notes :
(a) Allotment of shares,

(b) Call in advance.

18. TF FUA & @R JEh § 7 99 U ©

12% o= 20,00,000
FO9E Qe Y 20,00,720
FO9E e [ AR

* 8,00,000, 9% FOUH ° 7,60,000

' 14,00,000, 8% TXEHR 995 * 12,40,720

S fafYr &1 fafv=arl # 39 SR S= W

9% OGS TH oI W Ud 8% TIHNI O i ik Tod & 90% WX, RO &l
FYER e fpar T

H B JRIH H FOH e WY @ aor FoE e [y ffEe am aar
| 8

The following are the balances in the books of a company as on 31st

March, 2015 :
12% Debentures 20,00,000
Debenture redemption fund 20,00,720

Debenture redemption fund investment
* 8,00,000, 9% Debentures * 7,60,000

2008/(Set : C)



12.

13.

14.

15.

(11) 2008/(Set : C)
* 14,00,000, 8% Govt. Securities * 12,40,720

On the above date above investments were sold as follows :

9% debentures at par and 8% Govt. securities at 90% of its face value,
debentures were redeemed accordingly.

Prepare Debentures Redemption Fund Account and Debenture
Redemption Fund Investment Account.

HAYqT
OR

Yol ST &l BRATeT @ kOGSl @ Qe il UihAT H GHEsUl 8

Explain the procedure of debentures redemption by open market
operations.

T -9
PART -C

(Fgetes weiw)

(Computerised Accounting)

FYAG T T & 7 1

What is Computerized Accounting ?

STeT T o § 7 1
What is Data Entry ?
HYAPA qEiHT B AT H Ao B 4

Explain the features of Computerized Accounting.

S[ETST U & ¢ 3893 B aU ] 4

2008/(Set : C) P.T.O.



16.

17.

18.

(12) 2008/(Set :

Write any four objects of DBMS.

e R dfera o o 4
(1) AR wd teebe,

() wEIT afaftel

Write short notes on the following :

(a) Validation & Verification,

(b) Adjusting Entry.

YSAS F1 8 ? IS8 S9N B A @R & o s 8

What is Query ? Describe the various method creating query.

HYql

OR
B g B AFRAT H A0 H 8
Describe the procedure for creating form.
e W ERe oe o 8

(31) @resfie @ faswareTt @ ave B

() Cedie & ST # I R

Write short notes on the following :

(a) Features of ES (Electronic Spread Sheet).

(b) Application of Electronic Spread Sheet.

HYAT

2008/(Set : C)

C)



(13) 2008/(Set : C)
OR

FeAge 8 Redd, Rafed a0 Redd @ &8 = B ¢ 98 818 dfic & fom fagw
JMATE Hi B 7 8

How does the absolute cell reference, differ from relative cell reference ?
Why is this distinction necessary in spread sheet ?

2008/(Set : C) P.T.O.
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(2) 2008/(Set : D)
° FYI F97 F TG 37 G g4 T° %Tc??/%mvwgﬂfaae??w%ﬂ
FYT 59 T F g A arar :/37‘ R s
Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 7357 -

() T8 g57-97 T G 7 Ao &
TT-37 : STTTTE] FEd T FA Gl
TI-F : B @7 TF [T [aeal & [y
TG : FLNPT TG

(i) SF-97 a8 Ther o s @ Gr-g T 9IT-q § & FE @
T &T F1

(iii) TH F9T ET &7 81 JAF FIT & IF FGH THAT T 7T 8

(iv) 797 @& 11, 17 7 18 7 of<ili® ge Y7 &/

General Instructions :

(i) This question paper is divided into three parts :
Part-A : Not for Profit and Partnership Accounts.
Part-B : Company Accounts and Analysis of Financial Statements.
Part-C : Computerised Accounting.

(ii) Part-A is compulsory. Candidates have to attempt any one part
from Part-B and Part-C of their choice.

(iii) All questions are to be attempted. Marks of each question are
indicated against it.

(iv) Internal choice is available in Question Nos. 11, 17 and 18.

M - A
PART - A

(ST Heerd wd EEErd @)

(Not for Profit and Partnership Accounts)

2008/(Set : D)



(3) 2008/(Set : D)
1. WH-29 A T 9 9 e @ § T =i e 1
Give one difference between Income & Expenditure A/c and Profit &
Loss Account.

2. TEEN AffEE 1932 1 4N 4 F SIER TEE @ GRS a1

Give the definition of partnership according Sec. 4 of Indian
Partnership Act, 1932.

3. ‘TR R ‘A 3 : 2 % orgu F AW died §U AR N B oaw F o
B & fow wEEl § WAy @ mmo S oo Rem w qwr A’ §
A AT R B AT STIUIE G W@ SO & O A 1

X and Y are partners sharing profit in the ratio of 3 : 2. Z was admitted
with % share in profits which he acquires equally from X and Y.

Calculate the sacrificing ratio and New Ratio.

4. T, d ARG 4:2: 1D ogUd F AN ded gL AEER T T B STEH
Te0 FA W AU g Al & U 3 : 1 I A Wi U S Bl 1
A, B and C are partners sharing profits in the ratio of 4 : 2 : 1. If the

New Ratio of B & C is 3 : 1 on the retirement of A. Calculate gaining

ratio.

5. &L § oY F1 993 § ? 1

Write the meaning of drawings.

6. G WA TN GTHHHT T H g A= o 1
Write one difference between Realization Account and Re-Valuation

Account.

2008/(Set : D) P.T.O.



(4) 2008/(Set : D)
7. 31 RE=R, 2015 % 9< 8N a a9 & U &9 & A q& FOE @« &
T 0 7 da9 & W1 24,000 REE ® B

\‘ﬂﬁlﬁﬂﬁw

T T T 3a9 & a¥ 2014 % ° 1,600 3R 2016 & ° 2,400 AT &1 a9
2015 & 3T&T I * 3,200 B IqT F FEiET AHS 9§ 2015 H
-2 G § a9 4

In the receipt and payment account of a club for the year ended
December 31, 2015, the amount of salaries shown in the payment side
is " 24,000.

Additional Informations :

Salaries paid include * 1,600 for the year 2014 and * 2,400 for the year
2016. Outstanding salaries for the year 2015 amounting to * 3,200.

Show the relevant date of salaries in the income and expenditure
account for the year 2015.

8. ‘W Tl A W' 3 :2 ¥ qled gL AWEER & I Ieil HA: 50,000 FAv
25,000 B1 JA% EER IO Tl T 10% & 99 & e 81 @ @ & &
IRl W A SN & IR A B N FHSH seM d Q@ B o @ 10%
FHT T H ARHEL 51 A A A F PR W A qo W FHE gen &
I & A B 8% FHIIH T B AHR 21 a4 F O Lo W &AW o § G
' 37,500 2l

-3 RN Tl ST 4

A and B are partners in a firm sharing profits and losses in the ratio of
3 : 2 with a capital of * 50,000 and ® 25,000 respectively. Each
partner is entitled to 10% interest on capital. 'A' is entitled a
commission of 10% on net profit remaining after deducting interest on
capital but before charging any commission. 'B' is entitled a
Commission of 8% of net profit remaining deducting interest on capital
and after charging all commission. The profits for the year prior to
calculation of interest on capital was = 37,500.

2008/(Set : D)
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Prepare profit and loss appropriation account.

9. T R & 3:2% FUA § @ ded g Th BH ¥ WERER 21 S G
AT 1,60,000 T ' 1,00,000 31 ‘Gl & ¢ WEER & @9 7 BH
sa fm A e o W F R 1,20,000 T F w9 F w1 T e

U N TOFT B q9 A = @ aw enta 8 geiag gt s 4

A and B are partners in a firm sharing profits and losses in the
ratio of 3 : 2. Their capital are ~ 1,60,000 and ~ 1,00,000 respectively.
They admit 'C' as a new partner. 'C' brings in = 1,20,000 as this capital

%th share in the profits. Calculate New Sharing Profits ratio and Pass

Journal Entry for recording the goodwill without opening goodwill A/c.

10. 7 gEmell ¥ ®F & §AOd W Ao Sfftedt S 0 4
() B @ A gERET  3,00,000 AR FA AGE@ - 1,00,000 B
(i) T B d9 ¥ T gL 2,50,000 TAT AGE B 10% Fekd W
e e
Pass Necessary Journal entries at the time of dissolve of the
partnership firm, from the following informations :

(i) Total assets of the firm are ° 3,00,000 and total liabilities are °
1,00,000.

(i) Amount realized on sale of assets © 2,50,000 and
payment paid outsiders at a discount of 10%.

11. 1 S9ad, 2016 H TR, ‘98’ AR ‘ST’ 1 el g9 SR & N % @ B A
ol T ¥ dled B

CREC R[] TR () gefREt T ()
fafery AFER 10,000 |d% 99 8,000
3T 9 1,000 |fafag 3@ : 7,500

-1 @ 7,500 |9/ : IENH 500 7,000

2008/(Set : D) P.T.O.
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‘T’ 22,500 | & 17,500
‘qrg’ 15,000 |y 6,000
e’ 7,500 | comefy wreqferes 25,000

63,500 63,500

S [ & Sie frefaied ol OX STaeIeT T80T BN |
() T guRE B T 10% d R

(i) fFERT @ qedie * 5,000 W fRar R

(iii) THE ITER B B

(iv) T 49 @ 300 § T |

(v) fafE @ 900 &= St gam

(vi) ®H & =T B el 4,500 W R S
g @, G @ qen et feer AR &t 8

The following is the Balance Sheet of X, Y and Z on 1st January, 2016,
distribute the profit in capital ratio :

Liabilities Amount Assets Amount
Sundry creditors 10,000|Bank Balance 8,000
Outstanding Exp. 1,000|Sundry Debtors :

Profit & Loss A/c 7,500 7,500

Less-Provision__ 500 7,000

Capital :
X 22,500|Stock 17,500
Y 15,000|Investment 6,000
Z 7,500(Fixed Assets 25,000

2008/(Set : D)
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63,500 63,500

Z retires on the above date on the following conditions :
(i) Fixed Assets be reduced by 10%.

(ii)) Investment are revalued at " 5,000.

(iii Debtors were all good.

(iv) Outstanding exp. be increased by " 300.

(v) Interest accrued on investment * 900.

(vi) Goodwill of the firm be valued at " 4,500.

Prepare Revaluation Account, Capital Accounts and Revised Balance

Sheet.
ST
OR
U AERER & Y99 & 999 A @ (NfeE) & @i 6F 5R S ¢ AR
8

(&) T WEER o R @ e e A
(3) T ORRER o e @ el e ¥ T A g

Explain the accounting treatment of goodwill (premium) at the time of
admission of a new partner, when :

(a) The partner brings the share of goodwill in cash.

(b) The partner does not bring his share in cash.
{1 -9

PART - B

(ot @ o i faeent & fasaon)

2008/(Set : D) P.T.O.



(8) 2008/(Set : D)

(Company Accounts and Analysis of Financial Statements)

12. @i G0 F1 8 7 1

What is owner's equity ?

13. el @ o faEeen & 99 g 1

Give any two names of Financial Statements.

14. = gaamel § € ad U B T S 4

N\

IR ieh 90,000
i~ Wi 1,10,000
e} 2,30,000
EEEl 70,000
EER 4,00,000
HIRE Gels 20,000

Calculate stock turnover ratio from the following information :

N\

Opening Stock 90,000
Closing Stock 1,10,000
Purchases 2,30,000
Wages 70,000

2008/(Set : D)
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Sales 4,00,000

Carriage inward 20,000

15. A9 Fhameamal @ Uhs JAE i UM HIfTT ¢

31-3-2014 31-3-2015

N\

T (w.d.v.) 30,000 37,500

TR ga

(i) 5,000 AR & Fa9, B W 8@ ° 1,500 &l ™, 3,000 § 39 i

(i) 31-3-2015 F T q¥ & [ FGT T B 12,500 TET T R
4

Calculate net cash flows from investing activities from the following

information :

31-3-2014 31-3-2015

N

Building (w.d.v.) 30,000 37,500
Additional Information :

(i) Building costing © 5,000 on which * 1,500 had accumulated as
depreciation sold for * 3,000.

(ii)) Depreciation charged on building for the year ended 31-3-2015, °
2,500.

16. U%s YA fqaxer & fhel gv 9l & ao & 4
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Mention any four limitations of cash flow statement.

17. T HE 1 10 a0 5,000 F9el AT 10% HifFed ® Frifd w39 39 561
g
C'FIT%TFTW‘S;
e W 3 (Mfw afeaq) qon
Tedl ol i<W fohed 5

Teh SR 586 9@ 300 9 ¥, IE4 GEell g A R F PN T

e SE% oSl B S FX foRn T AR 7 9fd o Eled g FRif @ R
QI HT B GETH A I A Jiaredl Hivl 8

A company makes an issue of 5,000 equity share of * 10 each at 10%
premium. The amount is payable as follows :

On Application " 3;

On Allotment " 3 (including premium) and

On First & Final call * 5.

A shareholder holding 300 shares did not pay first and final call. His
shares were forfeited and re-issued at * 7 per share fully paid up.

Pass Necessary Journal Entries in the book of the company.
HYqT
OR

T @ e e e 8

(31) ofsl &1 S ST,

(3) =1 fg T oSl & g R

Write short notes on the following :

(a) Pro-rata Allotment of shares,

(b) Re-issue of forfeited shares.

18. 1 3Hadl, 2016 & TH H & @l o 71 99 B -
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12% T 4,00,000
fifepT woe 3,00,000
Rifee wos fafvarT (sifd g9 ° 3,40,000) 3,00,000

FO 7 IUNE A B RO B M B B foC {fET ®UE AT 5%
el W 99 Ry Rl wvs @@ 9 e wvs @ R St 8

The following balances appeared in the books of a company on 1st Jan.

2016 :

12% Debentures 4,00,000
Sinking Fund 3,00,000
Sinking Fund Investment 3,00,000

(Face value * 3,40,000)

The company carried out the redemption by sale of Sinking Fund
Investment at 5% discount on the above date. Prepare Sinking Fund

Investment and Sinking Fund Account.

Srerar

OR
FOET H UREAT ERT MET T AUH T AR T ? TH IEE AT A
yfaftedl gRT T H 8

What do you mean by redemption of debentures by conversion ?

Explain with the help of Journal Entries.
M -9
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15.

16.

17.
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PART -C

(Fgele uiw)

(Computerised Accounting)

SIS 3<{%hd 9 oY 1 99 & 7 1

What do you mean by Database Interface ?

STeT aAfies™ &1 8 ? 1

What is Data Validation ?

FYNFA @B TOTel & ST T eI © ¢ 36 IOl & Hgefel e I bl
@7 A F Ao B 4

What do you mean by Computerized Accounting System ? Give three

advantages of Computerized Accounting System over the Manual
System.

S[EEY S+ JUIeH & o719 9491 g93a & ¢ 4

What do you mean by Database Management ?

FYHA THT Tl § A3 W e S e & 7 4

How Profit and Loss Account is prepared in Computerized Accounting
System ?

RUE q9m & i ah® &1 aoi 8
Explain the different methods of preparing 'Report'.

HAYqT
OR

UBde g9 & faR= a6 & avie H 8
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Explain the different methods of creating Query.

18. Tsdic 1 & ? sEd 9w SR 8

What is Spread Sheet ? Give its features.

HYqT
OR

gpiic § Th BAq B Hem Ten Had S S GiHT B gHEsy 8

Explain the process of inserting and deleting a column in worksheet.
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